Real Numbers
Ex. 1.2
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10[ 140 = 2> x5 x 7
| 156 =2° x3x13

W [3825 = 32 xS*x 13
W [S005= Sx Fx11x13
@[3929= 173x1%x23
29 26 = 2x13

1= Ix13

HCF= 13

LCM= 2x3Ix13

= 1R2

LCMx HCF = 13%x 182 = 23€6
Crodbict  sf  mundora = 26x7122366
S, LCMx HeF = e)m&o‘zwdt -3-6» Y\/wvwoyu-#

@ S10= 2 x3x5S%x1%

Q2= 2%*x23

HCF= 2

LcM= 224 3xS5%x13%x23 =23460

LCMx HCF = 23460x 2 =46920

Esoduct  wf mumbouw = S1ox92=46920
S.LeMx Hee= Bwdact ¢6— oo

@236 =27 x3x %

sy = 2x3°

HCEFE = 2x23=(6

LeM= 29 x3x 7 =202Y
LCMx RHCF= 3024 x6 =/ 181yy

&M \s—@ ruwdsera = FIE xS Y = 181YY
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12=2%2x3
1= 3x5
21 = 3 x*F
HCE= 2

LCM= 2% x2xSxF =Y20o

13= LFxl
22 = 23x1
29= 29x1

Hece= L
LLMNMN= 1Fx23%x29 = 1133%

= 2% x1

9=23%"x1

25=5%x1

Hcr= 1

Lem= 2 x 3% w5”
= 1800

HeF (206,653 =19
Loz Product of nundstrs
HCF
3y
= 3o x657F

A1
= 22338

LLCHMxHCF = Bwdwt  of  numbow
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Fx Ll 13+13

12(Fx 1t +0)

13x 38

13 x 13<3x2
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FIxbx SxYx 3x2x1+S

S Ixbx Yx3x2+1)

S(loo&-f—l)

Sx loo9 x 1

FrbxSxUx3x2xL+5 w0 whvhssh numbou
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18 = 2 %32
12= 2%«3
LCM= 252"
= 36
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